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I- (5 points)
In a certain store, all the pants are sold at the same price and all the shirts are sold at the same price.
Diala bought 3 pants and 4 shirts for 240 000 LL.
Joudi bought 2 pants and 2 shirts for 140 000 LL.
1) Calculate the price of one pant and that of one shirt.
2) The store proposes two offers for Diala if she buys 5 shirts and 5 pants:
e Offerl
10% discount on the price of each pant and 30% discount on the price of each shirt.
e Offer?2
A reduction of 60 000 LL on the total amount.
Which one of the two offers is better for Diala? Justify your answer.

11- (5 points)
80 tourists are travelling on a boat to visit a certain island. These tourists are distributed as shown in the table

below:

Age in years [16 ; 24[ [24 ; 32 [32 ; 40[ [40 ; 48[ [48 ; 56]
Europeans 6 7 12 3 8
Asians 3 13 11 12 5

1) Determine the average age of the European tourists on this boat.
2) The captain of this boat chose randomly one person from these tourists to be the guest of honor.
Consider the following events:
E: " the chosen tourist is European ".

A: " the chosen tourist is Asian ".
Y: " the chosen tourist is less than 32 years old ".

a. Verify that the probability of Y is % :

b. Calculate the following probabilities:
PE), P(YA). PIYRA), PYUE) and P(AL).
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111- (10 points)

2
X +13 and let (C) be its representative

Let f be the function defined on the interval | = ]—1; +oo[ as f(x) =

curve in an orthonormal system (O;T,]).

1) Show that f(x) = x— 1+ —+,
X+1
2) a. Determine Iirplf(x) and deduce an equation of an asymptote to (C).

x>-1

b. Determine limf(x).

c. Prove that the line (d) with equation y = x — 1 is an asymptote to (C).
(x—1)(x+3)

(x +1)2 '
b. Copy and complete the following table of variations of f.

3) a. Verifythat f'(x) =

X H1 1 +00
f'(x) 0
f(x)

4) a. Calculate the coordinates of the points of intersection of (C) and the line with equation y=3.

b. Find an equation of the tangent to (C) at its point with abscissa 0.
c. Draw the curve (C) and its two asymptotes.
5) Solve graphically: 2 < f(x) < 3.
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Ql Answers Mark

Let x be the price of a pant and y the price of a shirt
{3x +4y = 240000

X =40000 LL andy =30 000 LL 2
2X +2y =140000

Offer 1: after the discount, the price of a pant is : 40000x0,9 =36000LL.

And the price of a shirt is : 30000x0.7 =21000 L.L.
2 5x 36000 +5x 21000 = 285000 LL 3
Offer 2 : 5x40000 +5x30000— 60000 = 290000LL
Offer 1 is better for Diala.

Qll Answers Mark
The average age of the Europeans is:
1 20x6+7%x28+12x36+3x44+8x52 1
=36 years
36
_ 220 _ 29
2.2 P(Y) = 80 80 1
_ 36, _ 10, 6
P(E) = 553 P(Y/A) = 553 P(Y N A) =,
2.b P(Y UE)=P(Y)+P(E)-P(Y nE) :% 3
P(A/Y) _28
51
QI Answers Mark
_ 2
PR :(x 1)(x+1)+4:x +3 .
X+1 X+1 X+1
lim f(x) = 4 =400
ey 0
2.2 1
x= -1 vertical asymptote of (C)
op | limf(X)=-+o0 1
2.c | lim[f(x)—(x-1)]= lim [iJ =0, y=x— 1isanasymptote of (C) 1
X—>+0 X—+oof X 4
F1(x) = 2X(X+D) - (O(x*+1)  x*+2x-3 (X-1(x+3)
3a (x+1)° (X+1)? (x+1)? 1
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Qln Answers Mark
1 +00
- 0 +
(e 0]
2
2
X +3=3 , x> =3x=0,then x=00r x=3
4a | x+1 1
then the points of intersection are (0,3) and (3,3)
4p | Y-FO)=FO)(X)g y—-3=-3x,y=-3x+3 1
8.
7.
ol
5.
4.c 1
2.
.
0
1 o N 2 3 4 5 6 71
U
e | Xxe[0UL3] 1
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